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Name: Datum: Ergebnis:
4,416 x 1000 = 7,043 x 10 =
2,026 x 10 = 2,126 x 10 =
6,06 x 100 = 4,482 x 10 =
7,823 x 100 = 6,771 x 100 =
8,725 x 10 = 1,085 % 10 =
6,995 x 100 = 5,009 x 100 =
2,601 x 10 = 7,134 x 100 =
1,075 x 100 = 2,645 x 1000 =
10, 14 x 1000 = 1,216 x 10 =
5,698 x 100 = 7,138 x 1000 =
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Name: Datum: Ergebnis:
4,416 x 1000 = 4416 7,043 x 10 =70.43
2,026 x 10 =20.26 2,126 x 10 =21.26
6,06 x 100 = 606 4,482 x 10 = 44.82
7,823 x 100 = 782.3 6,771 x 100 = 677.1
8,725 x 10 = 87.25 1,085 x 10 =10.85
6,995 x 100 = 699.5 5,009 x 100 = 500.9
2,601 x 10 =26.01 7,134 x 100 ="713.4
1,075 x 100 = 107.5 2,645 x 1000 = 2645
10, 14 x 1000 = 10140 1,216 x 10 =12.16
5,698 x 100 = 569.8 7,138 x 1000 = 7138
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